27|10 M &



ATHI| O [spur gear]
- F1F Ltetel SsLIJF 2450 U= JIo
- JIE HEEQ IO

; i
= i
'i .-""'.-.r.:r ‘F":" llr'
o an Al
u‘“‘». i ﬂ};\ﬁu
O3 [\ KN
f-_'.;:.! I_F‘_."'I'
&
[1)
x___? |
I 1 i r z
.\..\--\--. =i} Zn =

101 01 =0l e ———u




rir

- 7| & (base circle): 2IHZ=E 2 M (involute curve)Q| 7| =7} |
- O X| & (pitch circle): AI§ 7|0{Q| A& Ql O 7|0{e] AF0 ST el= 7Hatel | B=8] 2(Tdt= o &
O 7|0{0| M &= LXK 2 75 FE(rolling contact)= ot0, 1 ™EHEZ L|X[HE(pitch point)O| 2} SHC.

- 0| Z & (addendum circle): 7|0{2| 2= O|EZ X[Lt= 7H&2] &. O|2 &2l X| &2 I|X|& X|&0| (O] =
O|x2)& ot ¢tut ZC

- 0|2 2| & (dedendum circle): 7|0]2| 2= O|f2[E X|Lt= 7t&2] &. O|F 2| el X[E2 L|X[& K|S0
(O]f2| =0[x2)E tH Ztup ZHC

- 0| & =0|(addendum): I|X| 20 A O|2&AIX| X & HdFo = FHHoH A2

- 0|8 2| =0|(dedendum): I|X| &0 A O 2| ANK| X & Hato = H-o AH2|. 0|8 0|2t O|%e| =
09| &2 FA| 0|=0|(whole depth)2} $tLCt.

- A F=4| X|(circular pitch): Z|X| &2 2t 02| oF FOof|A 21t o2 CH3ENA| =78t AHe|. T|X[ =2
£ O] == Ltz ¢t Z20 7|0{e] A7|Z LIELE 7= = AFEEICH

- O|&7H|(tooth thickness): | X| & & 2} E™SE 0| =HE & ZF O|FM(circular thickness), | X| & 9| &1 &
2t Z78ot o] FHE 2&(2) O|FM (chordal thickness)2f otC}t. HE AL 7|0{2| ]F O|F/H = A1
X|o| 1/21F &C}.

- X|d(tooth profile): 7|0] O|2| &2 QIHFE 532 O|&5I( TH=E X[ 2 QIHFE X|H, AFO|2E0|E
=M (cycloid curve)2 0| &3510] TtE X[ = AIO|2 20| E X[HO|2} otCt CHEE2| 7|0 QIHFE X|HO|
- &t &M (line of action): =& 2|Hot= ot 4
- @& Zi(pressure angle): L X| &0 Ciet MY
=o{ 2| M5t= of el 7|0j= Y= 20| Z0t0ofF oot

o
.
T

n

ofe] g2zt 20°0|0 ot



7|04 MO05/ MO8 / M1.0 / M1.S / M2.0 M 0.5 M 0.8

M e M 0.8
L E R -y 0| e= | A= | 55 e 2 = ez [ 2= | 53
B C D PO | H L B c D |[Peo | H L B c
a0 11 10 BB 8 3 B 16 144 12.8 10 14 B 2
—] 2= 14 12 10 B 3 B 18 18 124 10 14 B 2
% | 135 128 | 10 8 3 5 20 178 | 16 0 12 5 2
26 14 13 10 8 3 B 24 208 18.2 12.6 14 B 2
;| | i 14 10 8 3 & 25 26 | ;0 | 128 | 14 6 o
a | . 18 10 8 3 5 28 24 | 224 | 12 12 5 2
(] 42 17 16 10 8 3 B 30 268 2z 12.6 14 B 2
Q g - — = = a& | 185 178 | 10 8 3 5 a2 2 | 266 | 128 | 14 [ P
& | m 18 10 8 3 5 3% 204 | 238 | 14 12 5 2
0 21 20 10 8 3 B 40 338 3z hES 14 B 2
a2 | 22 o 10 8 3 5 46 36 | 3@ 4 12 [ P
% | 235 25 | 10 8 3 5 48 40 | a3a | 14 12 5 2
28 I8 24 10 8 3 B B0 418 a0 4 14 B 2
e — 80 | 26 26 10 B 3 5
M1.5 M2
M 1.0 M 1.0 M 18 M 20
e 2 == o= = z= ==
orme| 2 T 22 == Az T . | = ez oaz | 25w W32 == 25 0| e US| 58| == A= | 5
D | PCD | H L 2 B D | PCD H L = c A L 8 e PO | H L 5 c
18 2 12 15 16 s 3 a2 24 a2 26 0 10 10 16 258 228 | 12 a7 | 1 12 i5 a4 a0 | 24 24 W | 14
= - - - P . : e - P = p p 1w | 27 24 | = 2 | 16 12 16 % | a | 2 | a ;0 | 12
18 a0 a7 2z ar 16 12 18 40 36 30 34 20 14
29 23 2 18 16 8 a & o & 26 20 10 10 w | o | = = | - o as | a0 | w | s e | e
27 24 22 12 18 B ] = = & 28 0 10 10 w @ ®  @m =z - o s = 3 = = = =
23 % 23 20 16 8 a a4 a o8 20 10 10 = | 208 we| @ = | = 2 = = | @ @ = = | =
24 25 24 20 16 8 a 4z 0 o8 20 10 10 % | =2 = | = =z | 1. 12 % = | =2 | 2 | = = | 12
I a7 26 a0 16 =1 B 42 = az 28 a0 10 10 fal:| 45 49 a4 o7 16 12 20 B4 =) 48 a4 N 14
% o = 22 18 B ] 44 4 a4 = 0 10 10 o | 8 4 | ® ¥ | & 12 @ e | es B | a  m | ¢
a7 23 7 22 18 : ] 45 47 a2 = 20 10 10 a | & $ | o T | s 12 ® 7w | 72 85 | 3 m | s
ag a0 o8 ag 15 21 B 45 48 48 og a0 10 10 a6 BG.6 B2.6 a0 v 18 12 4] 24 BO (4] 3= 20 14
20 at 2 24 18 B ] FER 28 = 0 10 10 . 57 B | 0 T | =
an | az | = | 24 16 B 8 B & | s | 28 | 10 | 10 0| & @) @ T | M8 12
€0 | 7@ 6 | e 2 | 18 12

= (bar) BJ|0f I b otME mIof
I X A2I10




O|EHXIE = (Z(A+)+2) X M(E E)
| X|AX|&(PC.D) = M(Z2=) X Z(A =)
7|01 0] =0| = 225 X M(2 &)
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O|BYX|E = (24+42) X 2 = 52
| X|AX|2(P.C.D) = 2 X 24 = 48
7|0{ 0] =0| = 225X 2 =45
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D | PCD  H L B c
15 34 | 30 24 34 | 20 | 14
16 | 36 | 32 | 25 | 34 | 20 | 14
16 40 | 36 | 30 34 | 20 | 14
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24 | B2 | 48 | 40 | 34 | 20 | 14
25 | B4 | BO | 40 | 34 | 20 | 14
26 | 56 | 52 | 42 | 34 | 20 | 14
30 64 | B0 | 48 | 34 | 20 | 14
32 | 68 | 64 | 50 | 34 | 20 | 14
3 76 | 72 | 55 | 34 | 20 | 14
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